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INSTRUCTIONS TO CANDIDATES (

Write your name and index number in the spaces provided at the top of this page.

This paper consists of two sections: Section L and Section I1.

Answer all questions in section I and any-five questions from Section II.

Show all the steps in your calculations;giving your answers at each stage in the spaces
below each question.

Marks may be given for correct working even if the answer is wrong.

Non- programmable silent eleétronic calculators and KNEC Mathematical tables may be
used.
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SECTION I

1 2 3 4 5 6 7 8 9 10 |11 |12 |13 |14 |15 |16 | Total

SECTION II

17 |18 |19 |20 21 |22 |23 24 | Total Grand

Total

This paper consists of 16 pages. Candidates should check the question paper to ensure that all
the pages are printed as indicated and no questions are missing.










7. A number P is formed by writing all the prime numbers between 40 and 50 in descending
order. If K is arrived by adding 20 to P. Perform divisibility test of 11 for the number K.
(3mks)

8. Twenty one minutes, fifteen minutes and nine minutes are the-intervals at which three
sirens ring. The sirens will next ring together 5.00 p.m. Find.the time the sirens had last
rang together. (3mks)

9. Two similar cylindrical’containers are such that the capacity of the larger container is 5
litres and that of the smaller is 320 millilitres. If the base area of the larger container is
0.25 m?. Find the'base area of the smaller container. (3mks)






13. Use reciprocal and square root tables to evaluate 5 3'3351 ++/0.498 (3mks)

14. A trader mixes 50 kg of beans costing sh.38 per kilogram with{l'50 kg of beans costing
sh. 34 per kilogram. At what price per kilogram must he sell-the mixture to make a profit
of' 30% : (3mks)

15. The angle ofielevation of the top of a vertical tower from a point A on a horizontal level
as the foot of the tower is 40 °. From a point B in direct line between A and the foot of
the tower and at a distance 10 m from A the angle of elevation to the top of the tower is
60 °. Find the height of the tower (3mks)



































